


; FEUILLE REPONSE 2 : CORRIGE
MODULE CC

TITLE 'Capture consigne'

Declarations

    CLK         pin ;
    D,C,EN      pin ;
    Q0..Q10     pin istype  'reg_D' ;

    Q = [Q10..Q0] ;

    A,B         pin istype  'reg_D' ;

    VALID = !EN & A & !B ;

Equations

    Q.CLK = CLK ;
    Q.AP  = 0 ;
    Q.AR  = 0 ;

    A.CLK = CLK ;
    A.AP  = 0 ;
    A.AR  = 0 ;

    B.CLK = CLK ;
    B.AP  = 0 ;
    B.AR  = 0 ;

    A.D   = C ;
    B.D   = A ;

    Q0.D  = ( VALID & D  ) # ( !VALID & Q0 ) ;
    Q1.D  = ( VALID & Q0 ) # ( !VALID & Q1 ) ;
    Q2.D  = ( VALID & Q1 ) # ( !VALID & Q2 ) ;
    Q3.D  = ( VALID & Q2 ) # ( !VALID & Q3 ) ;
    Q4.D  = ( VALID & Q3 ) # ( !VALID & Q4 ) ;
    Q5.D  = ( VALID & Q4 ) # ( !VALID & Q5 ) ;
    Q6.D  = ( VALID & Q5 ) # ( !VALID & Q6 ) ;
    Q7.D  = ( VALID & Q6 ) # ( !VALID & Q7 ) ;
    Q8.D  = ( VALID & Q7 ) # ( !VALID & Q8 ) ;
    Q9.D  = ( VALID & Q8 ) # ( !VALID & Q9 ) ;
    Q10.D = ( VALID & Q9 ) # ( !VALID & Q10 ) ;

END



; FEUILLE REPONSE 3 : CORRIGE
MODULE CPT

TITLE 'Compteur'

Declarations

    CLK         pin ;
    LD          pin ;
    D0..D10     pin ;
    
    Q0..Q11     node    istype  'reg_t' ;
    S1,S2       pin     istype  'com' ;

    Q = [Q11..Q0] ;

    A,B         pin istype  'reg_D' ;

    VALID = A & !B ;

Equations

    A.CLK = CLK ;
    A.AP  = 0 ;
    A.AR  = 0 ;

    B.CLK = CLK ;
    B.AP  = 0 ;
    B.AR  = 0 ;

    A.D   = LD ;
    B.D   = A ;

    S1 = (  Q11 & !Q10 & !Q9 & !Q8 & !Q7 & !Q6 & !Q5 & !Q4 & !Q3 & !Q2 & !Q1 & !Q0 ) ;
    S2 = ( !Q11 & !Q10 & !Q9 & !Q8 & !Q7 & !Q6 & !Q5 & !Q4 & !Q3 & !Q2 & !Q1 & !Q0 ) ;

    Q.CLK = CLK ;
    Q.AP  = 0 ;
    Q.AR  = 0 ;

    Q0.T  = (VALID) & ( Q0  & !D0  # !Q0  & D0  ) # !(VALID) & ( 1 ) ;
    Q1.T  = (VALID) & ( Q1  & !D1  # !Q1  & D1  ) # !(VALID) & ( Q0 ) ;
    Q2.T  = (VALID) & ( Q2  & !D2  # !Q2  & D2  ) # !(VALID) & ( Q0 & Q1 ) ;
    Q3.T  = (VALID) & ( Q3  & !D3  # !Q3  & D3  ) # !(VALID) & ( Q0 & Q1 & Q2 ) ;
    Q4.T  = (VALID) & ( Q4  & !D4  # !Q4  & D4  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 ) ;
    Q5.T  = (VALID) & ( Q5  & !D5  # !Q5  & D5  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 ) ;
    Q6.T  = (VALID) & ( Q6  & !D6  # !Q6  & D6  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 ) ;
    Q7.T  = (VALID) & ( Q7  & !D7  # !Q7  & D7  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 & Q6 ) ;
    Q8.T  = (VALID) & ( Q8  & !D8  # !Q8  & D8  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 & Q6 & Q7 ) ;
    Q9.T  = (VALID) & ( Q9  & !D9  # !Q9  & D9  ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 & Q6 & Q7 & Q8 ) ;
    Q10.T = (VALID) & ( Q10 & !D10 # !Q10 & D10 ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 & Q6 & Q7 & Q8 & Q9 ) ;
    Q11.T = (VALID) & ( Q11 & 1    # !Q11 & 0   ) # !(VALID) & ( Q0 & Q1 & Q2 & Q3 & Q4 & Q5 & Q6 & Q7 & Q8 & Q9 & Q10 ) ;

END
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